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. 26
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0.00
0.9893
0.9918

0.9938
0.9953
0.9965

0

0.01
0.8896
0.9920
0.9940
0.9955
0.9966

P(Z < 2.65)

2.65

0.02
0.9898
0.9922
0.9941
0.9956
0.9967

0.03
0.9901
0.9925
0.9943
0.9957
0.9968

. . - o «< -
1. 99UATYUDY Z NIJUIUIULAULA=NATEU

guKkUYN 1 Tulnon Z = 2.6

2. a"lud'mag Z MDunAGEUEILKUYA 2
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0.04
0.9904
0.9927
0.9945

0.9959
0.9969
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0.9946
0.9960
0.9970

0.06
0.9909
0.9931
0.9948

0.9961
0.9971
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0.9911
0.9932
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0.9962
0.9972
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0.9913
0.9934
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0.9963
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167 0 167 3. aeenia:z1dudunicidulAvunauiassiu
z 000 0.01 0.02 0.03 0.04 0.05 0.06 0.09
-1.9 0.0287 0.0281 0.0274 0.0268 0.0262 0.0256 0.0250 0.0233
-1.8 0.0359 0.0351 0.0344 0.0336 0.0329 0.0322 0.0314 0.0294
-1.7 0.0446 0.0436 0.0427 0.0418 0.0409 0.0401 0.0392 0.0367
-16 | 0.0548 0.0537 0.0526 0.0516 0.0505 0.0495 0.0485 0.0455
-1.5 0.0668 0.0655 0.0643 0.0630 0.0618 0.0606 0.0594 0.0559

AUV P(Z > 1.67) = P(Z < -1.67)
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